Attica Intermediate Classical Greek

IL.

Exercise Ten Key

Form Identification. Identify the following forms. List all possibilities.
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denoopat: 1% sing. fut. mid. (deponent) ind. of déopat
AmokTelvaong: gen. sing. f. aor. act. part. of dmoxtelivw
Kakotexvnoat: aor. act. inf. of kaxotexvéw

elotiato: 31 sing. imperf. mid./pass. ind. of éotidw
dopooacOat: aor. mid. inf. of SOpVLUL

aroBvrjoketv: pres. act. inf. of amoOvrjokw

atoxvvOeloa: nom./voc. sing. £. aor. pass. part. of aioxVvw
dlaxonoapévng: gen. sing. fem. aor. mid. (deponent) part. of dixxodopat
Yryvwokwot: 34 pl. pres. act. ind. of yryvdokw

Noiknke: 3+ sing. perf. act. ind. of &dwéw

Cwormg: gen. sing. {. pres. act. part. of {aw

ioaou: 3 pl. perf. act. ind. of oida

niomjoate: 2M pl. aor. act. imperative of motéw

mépupaoca: nom./voc. sing. f. aor. act. part. of Tépnw
teOvewtt: dat. sing. m./n. perf. act. part. of Ovijokw
amAeoe: 31 sing. aor. act. ind. of amoAAvHL

naOnpaot: dat. pl. n. of m&Onua, -atog, 16

Yoapuato: nom./acc./voc. pl. n. of yoaupa, -atog, 1o
BePoriOntaL: 3 sing. perf. mid./pass. ind. of fon0éw
apaptavwot: 34 pl. pres. act. subjunc. of apagtavw

Dictionary Drill. List the dictionary entry and meaning of each of the following words. You
may use a standard lexicon or the vocabulary list in the back of this textbook.

1.

10.
11.

elpaQuévng: elpaguévn, -ng, 1); fated time, destiny (supply poiga, destiny) (from perf.
part. of ueigopat)

EKATOV: EkAelmw, EkAclw, EEEALTOV, EkAéAoTia, ExAéAelupal, --- ; forsake, abandon
ATIOAOMEVT): ATIOAAVL, ATIOAQ, ATWAECA/ATIWAOUNV, ATTOAWAEKA/ATIOAWAR, ---, --- ;
destroy, kill; perish (mid.; pf. act.)

nolknvTat aducéw, ddikrow, Ndiknoa, NOlkNKa, NdiknuaL 1O ONV; be unjust, do
injury, injure, do wrong

dnAovot: dMMAdw, MNADowW, EdMNAwoa, dedNAwka, dednNAwpatl, ¢édNAwONV declare, make
clear

A onre: kaAéw, kaAw, éxdAeoa, KékAnka, kKékAnual, ékAnjOny; call, summon
dovAolc: dovAog, -ov, O; slave

TuxoLoA: TLYXAVw, TevEoual ETuXOoV, TETUXNKA, ---, --- ; happen to (+ supplementary
participle); meet, meet upon (+ gen.)

kaOéotnie: kaBlotnut, kKataotow, katéotoa (trans.)/katéotny (intrans.),
kaOéotnka, -, kateotaOnyv; establish, place, set (as guards); settle; be, come, arrive, be
established (intrans.)

EAeelv: EAeéw, EAenow, NAéNoa, ---, NAENUaL 1AenOnv; pity, have pity on
AUAQTNHACL: AHAQTN M, -aTog, To; failure, fault
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III.

Iv.

12.

13.

14.

15.
16.

17.
18.
19.

20.

dlaryvavat: diayyvwokw, dlayvwooual, dLEYvwV, dLEYVwK, dLEYVWOHAL, dleyvwoony;
decide, give judgment, decide a lawsuit

ETEOKNTITE: EMOKNTTW, EMOKNPw, EMéokna, ---, EméoknppaL Emeokr)PpOnv; enjoin,
lay a strict charge upon

TAQLOOVOA: MAQOQRAW, TIAQOPOHAL, TTAQELDOV, ---, TTAQEWQA AL TaQwdONV; neglect,
overlook

eldévar otda, eloopat, -, ---, ---, - ; know

ntelOn: melbw, melow, Emewoa, Mémewka/ménoBa, mémelopal, EneloOny; urge, persuade;
obey (mid.) (+ dat.)

éAéou: éAeog, -ov, O; pity, compassion

attovpat: aitéw, altiow, HTnoa, HTnka, HTnual 7tony; ask, demand

POAvwor POAvw, pOMoouat, EPpOaca/éPpOnv, ---, ---, --- ; anticipate (often with
supplementary participle)

néiwoe: alow, aluvow, Nélwoa, NEiwka, Nélwpatl &N V; think worthy; think
worthy of (+ gen.); think <someone> worthy <to do something> (+ acc./inf.)

Accent Drill. Place the correct accents on the following words and justify your choices.

10.

11.

12.

vueic: Pronouns, like nouns, have a persistent accent (R1.5).

Oavarov: Nouns have a persistent accent (R1.5). This noun is accented on the antepenult
in the nominative singular. Because the ultima is long, the accent must shift to the penult
(R1.5.2).

améktewve: Verbs have a recessive accent (R1.4). Because the ultima is short, the
antepenult may be accented (R.1.4.1.1).

duvwvtat: Verbs have a recessive accent (R1.4). Because final —at and —ot are considered
short for purposes of accentuation, the antepenult may be accented (R.1.4.1.1).

0AeBpou: Nouns have a persistent accent (R1.5). This noun is accented on the ultima in
the nominative singular. Because the ultima is short, no change is needed (R1.5.1).
tipuweiag: Nouns have a persistent accent (R1.5). This noun is accented on the penult in
the nominative singular. No change is needed.

émi: Most prepositions are accented on the ultima.

0Aé0povc: Nouns have a persistent accent (R1.5). This noun is accented on the
antepenult in the nominative singular. Because the ultima is long, the accent must shift
to the penult (R1.5.2).

avodpa: The accusative singular of &vrjo, dvdQdg, 0 is accented on the penult.
Bavudlopev: Verbs have a recessive accent (R1.4). Because the ultima is short, the
antepenult may be accented (R.1.4.1.1).

Ytyvoito: Verbs have a recessive accent (R1.4). Because the ultima is short, the
antepenult may be accented (R.1.4.1.1).

mtoudi: Monosyllabic nouns of the third declension accent the ultima of the genitive and
dative. Usually this is true for both the singular and plural forms, but naic is an
exception. It takes this accent only in the singular form of the genitive and the singular
and plural forms of the dative. The genitive plural is accented on the penult (madwv).

Translation Strategy Practice. Each of the following sentences includes an indirect statement

construction (R7). By noting the clue words, determine what type of construction is being used,

then translate the sentence.
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1. 0 €10G AdeAPOS Vouilel TO TNV PNTéQa U] TEOdOLVAL Elvat eDOERELAV.
Construction: accusative/infinitive construction of indirect statement (R7.1) set up by
vouiCet ; clue words: vopiCey, T0. . .1 mpodovvat, etvat
My brother thinks that not handing over his mother is an act of piety.

2. 1) u1tnQ tov AdeAdoD évopule v o0 PAoOvVew MaAAakV aduceloBOoat OO AvTOL.
Construction: accusative/infinitive construction of indirect statement (R7.1) set up by
&voule; clue words: évoule, maAAakn)v, ddueloBat
My brother’s mother was thinking that Philoneus’s concubine was being harmed by him.

3. 1) mMaAAakT) oUK T)OEL UTTO TG UNTOULAG TNG EUNG EEamatwpévn.

Construction: participial construction of indirect statement (R7.2) set up by 1dey; clue
words: 1)det, éfanatwpévn
The concubine did not know that she was being deceived by my stepmother.

4. €KETVOC O kaKOg €V 1)0eL OTL 0VX olov T 1)V avT) cwOnvaL.
Construction: 6ti/wg construction of indirect statement (R7.1) set up by 1dey, clue words:
1oeL, Ot
That evil man knew well that it was not possible for her to be saved.

5. 0 €HOC AdeAPOC elmev OTLTO TNV UNTEQA UT) TTIQOdOL VAL €1 &V EVTEPELAV.

Construction: 6ti/awg construction of indirect statement (R7.3) set up by eimev; clue
words: eimev, 6tL
My brother said that not handing over his mother would be an act of piety.

V. Translation. Translate the following sentences into clear and grammatical English. Identify the
form and explain the syntax of each of the boldfaced words.

1. gKkelvn 1] kKakn aAOT TOV EUOV TATEQA AVEAENUOVWGS TE KAl AVOLKTIOTWS ATWAETEV.
That evil woman herself destroyed my father without mercy and without pity.
avT): nom. sing. f.; when avtdc is in the predicate position, it is being used intensively
and means ‘-self’ or ‘very.’

2. YW AL TV EUNV HUNTOULAY TNV KaKTV AmoAéoOal 0P’ VPV kal ToL dikaiov.
I think it right that my stepmother perish at your hands and the hands of justice.
vuv: gen. pl. of 2nd person personal pronoun; object of preposition ¢’ (UT0)

3. el EMédelEa TNV TOVTWV UNTéQA POVEX OVOAV TOV TILETEQOL ATEOGS, ETIHWET|OATOE
AV TOIG VOLOLG TOIC DHETEQOLS KAl Ekelvy TQ TeOVNnKoOTL
If I had shown that their mother was the murderer of our father, you would have
avenged your laws and that dead man.
étpweroacOe: 21 pl. aor. mid. ind.; apodosis of a past contrary to fact condition (R10.5)

4. Eywye émeLéoxopat avTh 6Twe dQ dikNV WV NdIKTKEV.
L, at any rate, am prosecuting her so that she may pay the penalty for the injuries she has
done.
wv: gen. pl. n. of the relative pronoun g, 1, 6; the relative pronoun has been attracted
into the case of the omitted antecedent (R11.3). The full expression is 6mwg d¢ diknv
ToUtwV & Ndiknkev. The demonstrative pronoun tovtwv dropped out (as it often does
in such instances) and & was attracted from the accusative into the genitive, the case of
the omitted antecedent.

5. Ot olkTelgat HAAAOV TOV TEBVeEWTA 1) TNV ATtoKTElVATALV.
It is necessary to pity the dead man more than the woman who killed <him>.
teOvewrta: acc. sing. m. perf. act. part.; participle used as a substantive (R6.1)
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VII.

10.

gorv Excelvn 1 kakr) pn) TOXT) aldovg 1) EAéov 1) alloxvvng maQ’ VU@V, TG DIKALOTATG
Tipweiag Tevéetat.

If that evil woman does not get respect or pity or a sense of shame from you, she will
receive the most just vengeance.

tev€etar: 31 sing. fut. mid. (semi-deponent) ind.; apodosis of a future more vivid
condition (R10.4)

TG EAgely AELOV &in av ékelvny TV KAk §} TOV TATEQA TOV €U0V ATEKTELVEV;
How would it be right to pity that evil woman who killed my father?

&in: 31 sing. pres. opt.; potential optative (R8.5)

f): nom. sing. £. of relative pronoun &g, 1j, 6; subject of relative clause, antecedent is tr)v
KOKT|V

£orv dUvwvtal, ot EmiBovAevopevol Aéyovat Toig dpidolg T ovopata ékelvawv VP wv
&moAAvvTAaL

If they are able, those who are being plotted against tell their friends the names of those
men by whom they are being destroyed.

dUvwvtat 31 pl. pres. mid. (deponent) subjunc.; protasis of a present general condition
(R10.3)

g0V E0EAWOL T AVOQATIOd TAQADOLVAL, AVTA TADTA HEYLOTA TEKUNOL TTaQEEOVTAL
WG OVUK €voxoL eloL T HOVQ.

If they are willing to hand over their slaves, they will offer these things themselves as the
greatest proof that they are not complicit in the murder.

€0éAwot 31 pl. pres. act. subjunc.; protasis of a future more vivid condition (R10.4)

0 €UOG AdEADOC DIOHOTEV AVTOG €D EIDEVAL TV PUNTEQQ UT) TIETIOLNKVIAY TADTA.

My brother swore that he himself knew well that his mother had not done these things.
eldévar: perf. act. inf.; infinitive in an acc./inf. construction of indirect statement (R7.1)
introduced by dwopooev

TeTonkvia: acc. sing. f. perf. act. part.; participial construction of indirect statement
(R7.2) set up by eidévat

Error Analysis. Each of the English translations of the Greek sentences contains a translation
error. Detect the error (or errors), determine what it is incorrect, and write a correct translation.

1 maAAakr) eixe ta émixea v atia nv.

The concubine received the punishments which were worthy.

Correct translation: The concubine received the punishment of which she was worthy.
Error: The relative pronoun v is in the genitive case and goes with &&ia, which takes
the genitive. It was translated as if it were in the nominative case.

Olkm) d¢ KUPeQVETELEV AV EKETVOV.

Justice guided that man.

Correct translation: Justice might guide that man.

Error: The optative form of kvBepvéoetev and av indicate that this is a potential optative
(R8.5)

1] UnToLLa 1) €un ékéAevoev OO TG MAAAAKNG dOOTVaL* T U@ TTATOL TO PAQHAKOV.
My stepmother ordered the concubine to give the drug to my father.

Correct translation: My stepmother ordered that the drug be given to my father by the
concubine.
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Error: tc maAAakng is in the genitive case and is a genitive of agent with U7t (R3.2.3),
not the subject accusative of the infinitive doOmvat; the subject of doOnvat is 0
ddopakov
*d000at in textbook should be doOfvat

4. 1) maAAakr) eimev Ot el doin mAéov ToD PpaguaoL 1@ PAdVew, HAAAOV PLAT)ooLto VIO
avTov.
The concubine said that if more of the drug was given to Philoneus, she would be loved more by
him.
Correct translation: The concubine said that if she gave more of the drug to Philoneus,
she would be loved more by him.
Error: doin is active, not passive.

5. €L 0 AdeAPOG O €O DUAG TteloeLeV, 1) UNTELLX dikNV OV doin &v.
If my brother persuaded you, my stepmother was not punished.
Correct translation: If my brother should persuade you, my stepmother would not be
punished.
Error: The optatives in both the protasis and apodosis indicate that this is a future less
vivid condition (R10.4), not a simple past condition (R10.2).



